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General Instructions:
(1) All questions are compulsory.

(fi) This question paper contains 20 questions, which are divided into
four Sections: A, B, C and D.

(i) Section - A contains question number 1 having fifteen (i-xv)
objective type questions. Question from (i) to (vi) multiple choice type
questions. Each question carries four options, from which choose the
correct option. The answer of each question from (vi) to (xiv) may be

given in one or two words or sentences. Each question carries 1 mark.

(Iv) Section - B contains question numbers 2 to 9 of very short answer

type questions and carry 2 marks each.

(v) Section - C contains question numbers 10 to 17 of short answer

type questions and carry 3 marks each.

(vi) Section - D contains question numbers 18 to 20 of long answer

type questions and carry 5 marks each.

(vif) Internal choice is available in two questions of Section-D (Long
Answer Type Questions). You have to attempt only one of the given

choice in such questions.



gs- ¥
SECTION - A
(aFgfAss o)
(Objective Type Questions)

Afaf@a # O vaodd 3+ &l arg? 1

a) 4-ATscldeollgsh 3Fdl

b) Seoilgsh 3Fdl

C) 4-AUTFHrolIgdh IHFel

d) 4-ATATd-AISH HFT

Which of the following is most acidic?
a) 4-Nitrobenzoic acid

b) Benzoic acid

c) 4-Methoxybenzoic acid

d) 4-Methylbenzoic acid

Uf8s TAgsess, WUfAd A & fAThAr Fth F1 S ar g2 1

a) THISS
b) $H1SS
C) SIS
d) 3 & FIg AT

Acid anhydride on reaction with primary amine gives:

a) Amide
b) Imide
c) Imine

d) None of these



ii)

900 UTH YT &I HArelldT g 1

a) 50 M

b) 55.5 M
c) 5 M

d) 3 @ FIg ALt

Molarity of 900 g water is:

a) 50 M
b) 55.5 M
c) 5 M

d) None of these

Teh e e T HATHAT & 100% OT il & FAG ofercl §: 1
a) tioow = Y/

b) tio0y = a.k

€) tioow = “/2x

d) 3T ¥ IS AL

A primary alkyl halide would prefer to undergo:

a) tioow = Y/

b) tio00 = a.k

a) ) tioon = Y/op

b) None of these

et & @ ST 30F 3T g2 1

a) sfeoter Vodlglal

b) ATSFAlGFIATA
c) FraATer
d) m-FARIPIATT



Vi)

vii)

viii)

Which of the following is most acidic?

a) Benzyl alcohol
b) Cyclohexanol
c) Phenol

d) mChlorophenol

Uchlgiiolh  JICRRITHA  gIBsIFdAss & Ard  Ufodhd golls &
fagTSgIdallotelsl &l FaraaT & 1

a) 39<2%«<1°

b) 30 > 20> 1°
c) 39<20>1°
d) 3H § FIg 6

The ease of dehydrohalogenation of alkyl halides with alcoholic

potassium hydroxide is:
a) 3 <20« 1°

b) 3°>2°>1°

c) 3°<20>1°

d) None of these

3PS odlall (folTes) ¥ &1 arcay 872 1

What is meant by ambidentate ligand?

o-ASEPIATT T pASehlAiel H & HIT arsyflel FATIIAr Hl AT
CRIE 1

Name the steam volatile isomer out of o-nitrophenol and

p-nitrophenol.

sfestar FeR1ss A sfcera Vemlgiad & gRafdd | 1

Convert benzyl chloride into benzyl alcohol.



X)  TASHIATSST 99 T T FIAT FHASTd &7 1
What do you mean by glycosidic linkage?
xi)  UHh TSR TIET0T anrT Bidlal Ud Ueaigiad & fasig dfaw 1
Give a chemical test to distinguish between phenol and alcohol?
xii) Sfeer 3fAfRAT Far gdr €72 1
What are complex reactions?
xiii) AeIfAT K &1 Felt & g1 arel AT FT AT FdTC| 1
Name the disease caused by deficiency of vitamin K.
Xiv)  SuHEEASE A R T Ane(ll) T g fafav|
1
Write the formula for the coordination compound Potassium
trioxalatoaluminate(lll).
xv)  HeR13 FAIH Fr aRemr ford| 1
Write definition of Kohlrausch’s law.
s
SECTION - B
(1T TGRICAF T2eA)
(Very Short Answer Type Questions)
a) [Co(NH;),CL(NO,)]Cl &1 IUPAC =& farf@u| 1

Write IUPAC name of [Co(NH3),CI(NO,)]CL.

b) [Co(NH;),Cl(en),]** & FehIRIA (YdUT) HATGIAT HT TAITAT FA15T| 1

Draw structures of optical isomers of [Co(NH5),Cl(en),]**.



et fAfhI3 &1 ford| 2
a) dles AfATHAT

b) TEAR-E1HF-T 3ifAfehar

Write the following reactions:

a) Kolbe’s reaction

b) Reimer-Tiemann reaction.

FANIT FSAT Tk Solacled 9T HAE & [ o I8 WARS Felerelanrel
giaTagT AARRAT & 2t qur o Rdae E Fi? 2

Although chlorine is an electron withdrawing group, yet it is ortho-para

directing in electrophilic aromatic substitution reactions, why?

farT 8o & fav At greor fafau) 2
S ISn** || H*|Hyg)(1 bar)Pt s

Write the Nernst equation for following cell.
Sn(|Sn** || H*|Hyg (1 bar)Pt s

et Tarafaes Ao w9 Hifav] 2

a) MnO; +1-+H™ ?

b) Cr,0%™ + Sn?** + Ht ———?
Complete the following chemical reactions.
a) MnOy +1-+Ht ———?

b) Cr,0%™ + Sn?* + Ht ———?

a) ST AT FIT gIdT §? Ho-O, U T H gl arelr fATHAr fAf@w| 1
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What is fuel cell? Write reaction taking place in Hy.O, fuel cell.

b) FHY Fel 39 FYOT HF Ay A 1.35 V & R e & &1 =42

1
Mercury cell gives a constant voltage of 1.35 V during its lifetime. Why?
39 UfAelsT & et & F& aRafda & 2
a) psirARATeT

b) pETSSIFANSIdeoite

How will you convert aniline into the following?

a) p-bromoaniline

b) p-hydroxyazobenzene

p-AEABIA, o-ATSI Pl & HUF HFeld FAT gl 872 2
Why p-nitrophenol is more acidic than o-nitrophenol?
gs- ¥
SECTION - C
(FTTeHT 7o)

(Short Answer Type Questions)

HAreRdr 3R Ardrerar # 9% HIfSAT| gt H I ST dIdAT & THST giar
g 3R F=i? 3

Distinguish between molarity and molality. Which of the two is affected

by temperature and why?



11.

12.

13.

14.

[Fe(CN)6]*™ 3R [Fe(H,0)6]*" & o] faorgsit & a1 f@est g g1 Fai?

[Fe(CN)¢]*™ and [Fe(H,0)4]*t are of different colours in dilute solution.

Why?
Syl T Sy2 Tharfafeat &7 s ol 3

Write differences between Sy1 and Sy2 mechanisms.

fAratai@a JfATRIRT I a9 are HEY 3cqrer Y 3T @] 3

a) 3-AfARATT T AAATSCIHIT

b) 3-ATATHIATT FT SBATSCIHIOT

c) BiAcUAAITE T AlAIATSCIRIT

Write the structures of major products expected from the following

reactions:

a) Mononitration of 3-Methylphenol

b) Dinitration of 3-Methylphenol

c) Mononitration of Phenyl ethanoate

fefaf@a & sRoT IaEsT: 3
a) Vet JTar A faory § Safe efafas =g

b) FCA AT THg WHARE soacieren yfdwuras dfAfranst d ek
aar - fAders giar § O off UfeielleT ATSgiaoT eanT Jdse AT 7 A
AgeNfTeeT &t

10



15.

16.

17.

Account for the following:

a) Ethylamine is more soluble in water whereas Aniline is not.

b) Although amino group is ortho-para directing in aromatic electrophilic
substitution reactions, aniline on nitration gives a substantial amount of

m-nitroaniline.

Seoilel &l FaYsTieh 353.23 K g1 1.80 g 3mamsusiier fdeldr &l 90 g seoiled H

el W Ao &7 FaUsTies ¢ T 354.11 K g Jrar &1 e & Aex

GCTHATT T VAT HIAT| deoild & ToIT A, &1 AT 2.53 K kg mol' g
3

The boiling point of benzene is 353.23 K. When 1.80 g of a non-volatile
solute was dissolved in 90 g of benzene, the boiling point is raised to
354.11 K. Calculate the molar mass of the solute. A, for benzene is

2.53 K kg mol™.

a) fonell Taeraer 1 ATelehal defal & AT & Ted 872 2

How does the conductivity of a solution decrease with dilution?

b) IS & deFd-3vues & JUH YA FI yFd HIST| 1
State Faraday’s first law of electrolysis.

et gl & e &ifa| 3
a) 9ia 317

b) Frafersse

c) TR AT

Define the following terms:

a) Biomolecules

11



b) Carbohydrates
c) Reducing Sugar
gs- §
SECTION - D
(& ITIHS Te)

(Long Answer Type Questions)

18. a) Tohar 31fATRar & 500 K dur 700 K 9 391 2R saer: 0.02 s gar
0.07 s &1 E, &1 0T SIS 2

The rate constants of a reaction at 500 K and 700 K are 0.02 s and

0.07 s respectively. Calculate the value of E..

b) vuH Hfe HAfFAT & v FaTRiad Jo1 FAROT Hr geafa ST

3
Derive integrated rate equation for first order reaction.
HAYar
OR
a) e gar $r gRemwr SfSw] 3
i) HihaUT Fal
ii) 3ATTOgehdT
iii) a1 &R

Define the following terms:
i) Activation energy
ii) Molecularity

iii) Rate constant

12



19.

a) S=oifesgss Ud THIHAT H % e & for v Wa Tarafas

HHIFOT &S] .
Give a simple test to distinguish between benzaldehyde and
acetophenone.

b) 3T AFATATET FITAROIN A fhd TR oA HLIN? 2

) Soollgeh 3HFcl H SoollcSeI5s
i) Seoifesgss A deailthlale

How will you bring about the following conversations?
i) Benzoic acid to Benzaldehyde

i) Benzaldehyde to Benzophenone

C) gISsIad TS (HCN) &7 WUAisT & ATy ATfHRE derer fRfrar &
IGINAERICIBRAIE L 2

Give mechanism for the nucleophilic addition reaction of hydrogen

cyanide (HCN) with propanone.

Irgar
OR
a) e gat Fr auia Hifav| 3
i) efafefoss
i) HfAeRT fATRaT

iii) A1 VoaTel HETH
Describe the following terms:
i) Acetylation

ii) Cannizaro reaction

13



iii) Cross aldol condensation

b) fAeT TSl & 3T FAT THSIY 8§27 UcAS HT Th 3¢IeI0T SIfAAT]| 2
i) TR
ii) Shreer

What is meant by following terms? Give an example of each.

i) Semicarbazone

i) Ketal
20. @) HHAUT dedl & foa=T FUI HiT HiGTT AT HiSiT| 3
i) 3mafae Bear

ii) Tepol AT T FaFelt
iii) SR IoT
Briefly discuss the following properties of transition elements.
i) lonic radius
i) Formation of complex compounds

iii) Catalytic properties

b) [T &I TISC HITAT: 2
i) ThATT YTV AT il e Sl 8
ii) YAIST HT JolelT H TiFeAgst H Hpolel Folll T Ugia T
gl

b) Account for the following:

i) Transition metal generally form coloured compounds.

ii) Actinoids have greater tendency to form complexes than

Lanthanoids.
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